)\ = T [P Year 5
1.23+48=20+40+348=60+11=71 Term 3

Level 18 Test
In the same way, set out 72 + 39.

2. 54
X3

3.87.02
+3.21

4. Subtract.2 from 1=

5. Write 3 %2 as an improper fraction.

6. Arrange the set of decimals from smallest to largest.
0.65 0.87 0.36 0.75

7. 2x40= 80 +40=

8. Set out, and work out 46 x 32 as a long multiplication.



9. Mum bought seven % kg bags of potatoes. How many
kilograms of potatoes did she buy?

10. Trueorfalse? 6x(7+8)=(7x6)+(8x6)

11. How much change from $50 if | spent 24.95?

12. Continue the pattern:
3,6,12, 24, ) ’ )

13. 0.04x10=

14. 6.75+10=

15. A rectangular garden is 2.5 metres wide, 6.2
metres long. What is the perimeter?

16. A bakingtrayis 30 cm long and 15 cm wide. What
is the area?

Score /16 = %




